2-M10X1.5 TAP,DP18

SEP50608S (99POLE)

4-M10X1.5 TAP,DP18

(SIDE STPPER)

(SIDE STOPPER)

] |}
[ 3
o o d
140 185 190 185 140 2
50 15 99- M8 X1.25 TAP,DP8 28 222 340 222 28 4-M12X1.75 TAP,DP22
(EX.POLE) (EYE BOLT)
2 | /8
No T ° ° o ° ° o T
o || o ° r o ||l o || o
o
™
o || o ° T o || o || o
Al e || ¢ ° r o ||l e || o]l
o o o o
: # o[- ][] @aaaég
Al e || o ° ° o || o || o ||
o || o ° T o ||l o || o
o
o ||l o ° ° o|lo || e ©
° $ o || e ° ° ofle]le $
o \
@© T} \ ‘ 3
| | [ep) |
p == = |
1 [
POWER CONNECTOR 45 190 30 310 30 190 45
840
4-M10X1.5 TAP,DP18
(SIDE STOPPER)
140 185 190 185 140
Tp]
o ° F""""j S 1ﬁ771
T, 3
90
A

Isometric view (1:11)

15 50
o
©
Al

o

©

<

o

©

© '=‘__L"_

™ |

2-M10X1.5 TAP,DP18

(SIDE STOPPER)

N~
b sl
_ .
Lo
b sl

Detail A (2:3)

11

(SIDE SLOT)

SURFACE

FIN

ISH

N A7), (W) (VA7)

APPROVED

mme | SEP50608S00-HL ASS'Y

SUFFIX

MARK

SUBJECT

DATE

NAME

CHECKED

GENERAL TOLERNCE
(MACHINING)

OVER

6 -
30 -
120 -
315 -
1000 -
2000 -

T0

-6

30
120
315
1000
2000
4000

0.1
0.2
0.3
0.5
0.8
.2
2.0

g | c0 | v A i | wa
HEAT MODEL

TREATHENT HiC  N/A CHECKED NA MAT. N/A scate| 1/5
HEAT

Mmoo N/A oestaneo | SJ . KIM REF. DRG. NO. DRZ‘2NOI SEP50608500-HL |1/1 J;L

smeel  wa e | wnen /A S 2491011

A2 (597x420)

[80] 37 =H2 N3 NG

o

S Y% HOIDY, 278 FYYN U YYUIU B0 U YSES ZYOI UH HI0 M2} B2 IY0| &= YUY, NWIH SS ZY0ID AUS £ USUD. 2 =0 ZYE YR WL = ARE

STOZ M3 3, BIE, SNt = NtB0t=s NS AHOI 3NYULC.




